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1. (a) Write a note on meaning, nature and scope of econometrics. 14
OR
Explain ordinary least square estimation method.
(b) Choose correct option for the following. 4
(1) The analysis of dependability of dependent variable on one more
Independent variables means
(a) Regression (b) Multicollinearity
(c) Identification (d) None of the above
(2) D=a-bPand S =c + dP can be called the best constituents of which type
of model ?
(a) Econometrics (b) Statistical
(c) Economic (d) Mathematical
(3) Interval estimation means:
(a) Confidence levels
(b) Range of values between which the true parameter lies
(c) Both (a)and (b)
(d) Neither (a) and (b)
(4) A more efficient estimator means
(a) estimator with larger variance
(b) estimator with smaller variance
(c) linear estimator
(d) unbiased estimator
2 (a) Discuss about the Heteroscedasticity of an error term. 14
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OR

Write a answer

(1)
2)

Write a note on F- test.
Write short note on Type-1 and Type-2 error.
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(b) Choose correct option for the following. 4

(b)
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€)

(4)

Consistent estimator means that the estimator

(a) Must give the same value to each estimator

(b) Must have zero variance

(c) Should approach the true value of the parameter as the sample size
gets larger.

The standard errors of estimates of parameters obtained by OLS method are

often used as measures of for the trend regression line.
(a) dispersion (b) goodness of fit
(c) unbiasedness (d) None of the above

InY =a+bX, +u; obtained by OLS model, the value of Y is

(a) determined inside the model

(b) determined outside the model

(c) remains undetermined

E(V9) (n — 1) o-. This is

(a) true (b) false

For the following data obtain line of regression y = f’o + 1E\)lxi + ¢; and find out 12,

and standard error 60 and f’l 14

X |36|80 (50 (58]72]| 60

Y |35[65]|60 |39 |48 |44

OR
Write a note on autocorrelation.
Choose correct option for the following. 3
(1)  When E(b") = b, means our estimater is
(a) Best (b) unbiased
(¢) Quadratic (d) None of the above
(2) The symbol of coefficient of determination for two variable regression
model is
(a) R? (b) 12
(c) Ry d r
(3) What is responsible for autocorrelation problem ?

(a) Endogenous variable term
(b) Exogenous variable term
(c)  Error term

(d) Constant term
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(b)
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Write a note on Multicollinearity.
OR

Test the identification of the Keynes' income determination model of the

following by using rank and order conditions :

Ci=0y T oy, T oy, TV

t
[=Bo+ Byt Boyio1 t 1y
Y =C 1 +G
Where, C,, [, and Y, are endogenous variables.
¥;_ and G, are exogenous variables.

C = consumption, Y= Income, I = Investment, G = Gov. expenditure

v, and u, = error term., o and 3 = parameters.

Choose correct option for the following.
(1)  Which is the problem for construction of the model ?
(a) Multicollinearity (b) Identification
(c) Autocorrelation (d) None of the above
(2) What are the properties for best estimator ?
(a) Linear and unbiased (b) Best and linear
(c) Bestand unbiased (d) Best, linear and unbiased
(3) The order condition for identification is
(a) K-M=G-1 (b) K-M<G-1
(c) K-M>G-1 (d)  None of the above
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Note : (1) All essay carry equal marks.

(2) Write any two essays from the following.
1. Micro Credit and Micro Insurance in India
2. Urbanization and Migration in India
3. Child Labour in India

4.  Parallel Economy in India
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